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CD 

OLP-001 : INTRODUCTION TO POULTRY 
FARMING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions only. All questions carry 

equal marks. 

1. 	Define any five of the following : 

(a) Ad - libitum 

(b) Broodiness 

(c) Coryza 

(d) Debeaking 

(e) Disinfection 

(f) Egg tooth 

(g) Fertility 

(h) Hatcher 

5x2=10 

2. 	Explain any two of the following : 

(a) Commercial layer 

(b) Hybrid 

(c) Feed Conversion Ratio (FCR) 

(d) Spent hen 

2x5=10 
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3. 	What are the specific features of any two of the 
following ? 	 2x5=10 
(a) Duck 

(b) Guinea fowl 

(c) Turkey 

	

4. 	(a) Indicate True or False. 	 5x1=5 
(i) Indian Runner is a native breed of 

Indonesia. 

(ii) Kadaknath is a desi type bird. 

(iii) Leghorn is a meat type bird. 

(iv) Pekin is an egg type duck. 

(v) RIR is originated from Rhode Island 
of New England. 

(b) Choose the correct answer out of multiple 
choices given below. 	 5x1=5 
(i) Aseel is originated from : 

(A) Australia (B) Europe 

(C) Germany (D) India 

(ii) Cornish is the native breed of : 

(A) Denmark (B) England 

(C) France (D) Germany 

(iii) Muscovy is a breed of : 

(A) Chicken (B) Duck 

(C) Pigeon (D) Turkey 
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(iv) Quail is also referred as : 

(A) Bater 	(B) Emu 

(C) Kabootar (D) Ostrich 

(v) Weight of one Quail egg is about : 

(A) 10 g 	(B) 20 g 

(C) 30 g 	(D) 40 g 

	

5. 	Discuss in brief the following : 	 2x5=10 

(a) Poultry - cum fish farming 

(b) Duck - cum fish farming 

	

6. 	Expand the following : 	 10x1=10 

(a) CARI (b) CPDO 

(c)  ICAR (d)  PDP 

(e)  PFI (f)  FER 

(g)  AICRP (h)  KVK 

(i)  NECC (j)  BROMARK 

	

7. 	Name any five parts of the following : 	2x5=10 
(a) Digestive system 

(b) Female Reproductive System 

	

8. 	Define Artificial Insemination. Write about its 10 
advantages and disadvantages. 
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1. ftt ITN 4 01-frrsM -*: 	 5x2=10 

(a) /.5-/C-Irifd 4-1 

(b) 3# ,(--Ii 

(c) -ipicii 

(d) -c4-cf ch --all ( 8WI 	rch 4 I ) 

(e) cRi9bHui 

(f) alt 

(g) 3-4T-di 

(h) -cit 

2. 	14--i cl tAcl .4 -4 ftt t ct, Tcrtz 1-r---A7 : 	2x5=10 

(a) oql0R-1111ch 

(b) Tf-WT 
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(c) q1-11 tc\41d01 31--113Tff (T-f-).-1 .3TR.) 

(d) 1-4 11711 

	

3. 	-14--1ro 	rod 	 fq-r-q-rt FcRlqd4 wErr -0> ? 

(a) 2x5=10 

(b) 4 1411 	rpzfa 

(c)  

	

4. 	(a) 	r-hirri tAc-1 .4 4 	TIT Alcid 	: 	5x1=5 

(i) 	rft-Ti t-R, 	c() 	t I 

*s*-1121, tzft 	chr 	t 

	 4-1 	 t I 

(iv) if 	-7--*-R 	.1T-RA t 

(v)  

t 
(b) 	Tre alit 	-11 -4 	-gf-qq racbc-Lii 

5x1=5 
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(iii)   t? 

(A) f9-*-9. 	(B) cot7id 

(C) iZ 	(D) 

(iv) 3TP:{ 	: 

(B) 

(D) MTFf 

(v) 	a,k-  A air 1.1-r-t (1111.17 	: 

(A) 	10 4,11 44 
	

(B) 	20 4)14-1 

(C) 30 um 
	(D) 40 UCH 

	

5. 	1-1 4-1 Fri rod ch 	*-)11. -4 -4-F77 : 	 2x5=10 

(a) 1:1)Tt„ ITREE 1:17-9' 

(b) ciTid 7-4 -ITRzt 

	

6. 	F-1 4--1 	114-1 	: 	 10x1=10 

(a) #1.- .3-1-R.3-7T-  (b) 

(c) 	 (d) 1415-1.t. 

(e) T-11w41 	(f) 

(g) 	 (h) 	. 

(i) 	. 	(j) 	.T. 3117.t. 
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7.  

8.  

2x5=10 

tt 	10 

-k F-H---irciroct 	fwt ITN ITPff -k -9-P4 fffrRN7 

(a) 171748.  41 

(b) J-III A1I-1 di 

Vq1=1.  TIlliNT9' ct)) 40-11fisfff --r1-47 I 	Tffk 	.11-1. 	.r 
014 fffF-a-R 1 
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